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(TL-DICT)

(new BUL-value) (UL-value)

(TL-DICT)

<TL-entry> := ( <UL-value> <BUL-assignment> |

<implicit-cond-assignment>..)

£ 2

1 (BUL-assignment)
(BEAUTIFUL “ ")
(APPENDIX " " (= (CHOISs (" “N)

2 ( plicit-cond-assignment)

(Implicit-cond-assignment)
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(keyword)
COND
(SECOND (=AORD * M (" M)
$
(SECOND (COND ((==A AORD) (:= (BUL ‘(* )
(T (== (BUL '(* )
second 2
second
(AORD)
1) DIRECT (=A “ ")(=VN* DR G
(DIRECT (COND ((== CAT A)(:=(BUL '(“ "))
((== DRV VN) (:=(BUL ‘(" )
(T (= (BUL ("""
direct 3
direct
direct (VN) direction
2) (MISTAKE (=N “ (" ")
(MISTAKE (COND ((==CAT 'N)(:= (BUL'(" M)

(T (= (BUL( M)



mistake 2

mistake

(Alternative translations)

1 CHOIS
(ONLY* "(:= (CHOIS (" N M)
« { , X
only
(FORM (=N “r " (:= (CHOIS (* ")) (" o)
form BN form . g
(LL-
PENBIL) (AMLL-SEM)
$ (LL-PENBIL)

<LL-entry> := (BUL-value (> (BUL-PENBIL PENBIL))

BUL-value

BUL-PENBIL Keyword

PENBIL

K " (> (BUL-PENBIL " ™)))



115

("' f (> (BUL-PENBIL" "))
(" 1(> (BUL-PENBIL" "))
(" »1(:> (BUL-PENBIL" "))

(* " (> (BUL-PENBIL" "))

? ? ? ?
4 PARENT->1FCHILD->, LSIB-> RLIB-> MIR links ARGO->,
ARG1->, CIRC->1ATG->
(LOOK ( (TRUE (PARENT-> BECL)) “ ' ")
((== (ARG1-> SEM) HUMAN) " ")
(" ")
LOOK

(parent node) BECL (Copular Clause) He looks good

?7? ? ?' 1 (ARG1->) ?? 7 HUMAN

(BE

((& (== (argl-> sem) 'LOC ) (== (argO-> sem) 'HUMAN)) * ")

((TRUE (argl-> HERE-THERE))" )

(== (TRLO-> R) 'RDEM) " ")

((& (rue  odal-ul) (TRUE (parent-> BECL))) ™)

((== (parent-> BECL) 'BECLEQ) " ")

((== (parent-> BECL) 'BECLPROP) NIL)

(== (ATG-> A) 'ADV) NIL)

((& (NULL (parent-> BECL)) (TRUE circ->) (mem (circ-> svl) '(because (because
of)))) NIL)

((& (NULL (parent-> BECL)) (TRUE circ->) (mem (circ-> svl) ( aton))) " )

((& (NULL (parent-> BECL)) (TRUE circ->)) ')

d )



' (AMLL-SEM1 ? ?!

The hunter fired that bird

fired fired “@ o ow
' " bird
‘ " fired “ w
' TL-DICT
(FIRE (& =v (== (ARG1-> SEM) 'ANIM)) * ") " ")

Bird  AMLL-DICT

(BIRD C-ANIM))

The hunter fired that bird. “ "

5.2

(Tense)

1. Future tense “

2. Past perfect tense “

I had finished my work.

3. Continuous tense “ "

Mrs. Green is waiting to see you.

4. Present perfect tense “

Fie have stopped smoking

(Tense)



(TS-RULE* ASP-TENSE->ASPEK
($1 @GOV $2)
( (ROOT (OR VOL RELCL PARTCL SOL))
(GOV (& GOV =v (NULL ASPEK))) )
UNCHANGE
((GOV (COND
((& PAST PERF)
(:= (ASPEK 'DAILEEW) ((ROOT ASPEK) 'DAILEEW)))
(PROG (:= (ASPEK 'KAMLANGYUU) ((ROOT ASPEK) 'KAMLANG)))
(FUT (:= (ASPEK 'JA) ((ROOT ASPEK) 'JA)))
(PERF (:= (ASPEK 'LEEW) ((ROOT ASPEK) 'LEEW)))

(T (:= (ASPEK 'BIASA) ((ROOT ASPEK) 'BIASA))) ))))

=TS-RULE (structural transfer)
= ASP-TENSE->ASPEK

= ($1 @GOV $2) £

ROOT

/i\

$1 GOV $4

GOV = Future tense ASPEK ‘JA
Past perfect tense ASPEK ‘DAILEEW
Continuous tense ASPEK ‘KAMLUNG

Present perfect tense ASPEK ‘LEEW
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